                                                         Algebra II Final Exam Review
Solve the equation. Check for extraneous solutions.

1.
[image: image1.png]3|5 —4x| =8x+9






2.
[image: image2.png]214 Tx| = Tx +6





Solve the inequality. Graph the solution.

3.
[image: image3.png]| 2x + 10 |= 10





4.
[image: image4.png]| 4x + 8 |<24





5.
[image: image5.png]




6.
Find the domain and range of the function [image: image6.png])= |x+3]+2



.


7.
Find the domain and range of the function [image: image7.png]) =—|x+7-2



.


8.
Find the domain and range of the function [image: image8.png]f)=9x-8|+4



.

What is the graph of the absolute value equation?

9.
[image: image9.png]y = |x-2|





10.
[image: image10.png]y = |x+ 6|





11.
[image: image11.png]y = |2x + 4|




____
12.
Which of the following describes the translation of [image: image12.png]


 to [image: image13.png]y = |x+ 7| -2



 ?

	A.
	[image: image14.png]


 translated 2 units to the right and 7 units up
	C.
	[image: image15.png]


 translated 7 units to the right and 7 units down

	B.
	[image: image16.png]


 translated 7 units to the left and  2 units down
	D.
	[image: image17.png]


 translated 2 units to the left and  7 units down


____
13.
Explain how the function [image: image18.png]26) = ‘ 2.




 relates to the parent function [image: image19.png]Ay = |x|



 graphically.

	A.
	The graph of [image: image20.png]fx)



 is compressed horizontally to produce the graph of [image: image21.png]2(x)



.
	C.
	The graph of [image: image22.png]fx)



 is stretched horizontally to produce the graph of [image: image23.png]2(x)



.

	B.
	The graph of [image: image24.png]fx)



 is shifted to the left [image: image25.png]


 unit to produce the graph of [image: image26.png]2(x)



.
	D.
	The graph of [image: image27.png]fx)



 is shifted up [image: image28.png]


 unit to produce the graph of [image: image29.png]2(x)



.


Compare each function with the parent function.  Without graphing, what are the vertex, axis of symmetry, and transformations of the parent function?

14.
[image: image30.png]y=|-Tx+6|+6





15.
[image: image31.png]y=|-2x+5|+7





16.
[image: image32.png]y=|-2x+4|+4




What is the equation of the absolute value function?
____
17.


[image: image33.emf]2 –2 –4 –6 –8 –10 x

4

8

12

–4

–8

–12

–16

y


	A.
	y = [image: image34.png]—6|x—8| -2




	C.
	y = [image: image35.png]—6|x+8| -2





	B.
	y = [image: image36.png]6%+ 8| -2




	D.
	y = [image: image37.png]—6|x— 8| +2






____
18.


[image: image38.emf]2 –2 –4 –6 –8 –10 x

4

8

12

–4

–8

–12
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y


	A.
	y = [image: image39.png]3|x+8| -6




	C.
	y = [image: image40.png]3|x-8|-6





	B.
	y = [image: image41.png]3|x-8/+6




	D.
	y = [image: image42.png]3|x+8/ -6






____
19.


[image: image43.emf]2 –2 –4 –6 –8 –10 x

4
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y


	A.
	y = [image: image44.png]—4|x-2|+3




	C.
	y = [image: image45.png]4|x-2|-3





	B.
	y = [image: image46.png]4x+2| -3




	D.
	y = [image: image47.png]4|x+2|-3






What are the solutions of the following systems?

20.
[image: image48.png]




21.
[image: image49.png]



Solve the system of inequalities by graphing.

22.
[image: image50.png]y <241
y>2-3





23.
[image: image51.png]y<=x+3
y>dx+2





24.
[image: image52.png]y <442
y >+l




What is the solution of the system of equations?

25.
[image: image53.png]2ty +3z=8
x+dy+3z=-7
20+ 5y + 32




           

26.
[image: image54.png]dx—dy -3z =

x -2 +dz =
—5x + 5y




           

27.
[image: image55.png]dx—dy —dz = -8
3x -2 +2 =4
Ax Ay -2 =2



           

28.
A food store makes a 11-lb mixture of pecans, pistachios, and dried bananas. The cost of pecans is $1.50 per pound, pistachios cost $1.00 per pound, and dried bananas cost $1.00 per pound. The mixture calls for twice as many pecans as pistachios. The total cost of the mixture is $14.00. How much of each ingredient did the store use?

____
29.
What is element [image: image56.png]a3



 in matrix A?

A = [image: image57.png]



	A.
	–9
	C.
	–8

	B.
	0
	D.
	9


____
30.
What is element [image: image58.png]a3



 in matrix A?

A = [image: image59.png]



	A.
	2
	C.
	–6

	B.
	8
	D.
	9


How can you represent the system of equations with a matrix?
____
31.
[image: image60.png]~Tx- 14y +10z=4
dx-Sy-T2=6
Tx+12y+102= -6




	A.
	[image: image61.png]-7

7

-14
-5
12

10| 4
7| 6
10| -6




	C.
	[image: image62.png]12
10
-6





	B.
	[image: image63.png]12
10
-6




	D.
	[image: image64.png]-7

7

-14
-5
12

15
-7
10






____
32.
[image: image65.png]~13x -6y +152=15
Sx-3y-13z=5
Tx+ 15y +152=-12




	A.
	[image: image66.png]15

15
-13

15

—6

-13

-12

15





	C.
	[image: image67.png]-13

—6
12
-15

15 -

15
-12

-13






	B.
	[image: image68.png]-15

12
-13

15

-6

-13

-12

15





	D.
	[image: image69.png]-13

—6
12
15

15 -

15
-12

-13







____
33.
[image: image70.png]3x-8y+10z=35
2-15y-62=6
Sx+6y+10z=





	A.
	[image: image71.png]10
-8

-15
—6
—6




	C.
	[image: image72.png]




	B.
	[image: image73.png]-8 13| -5

-3

-8

10




	D.
	[image: image74.png]






34.


Write the system [image: image75.png]2+ 4z
Bx 4y

45 + 6z

-8

-8



as a matrix equation.

35.


Write the system [image: image76.png]6 -7z
6x - 6y

5x -9z



as a matrix equation.

36.


Write the system [image: image77.png]8 -5z
-8y

8 + Tz

—6



as a matrix equation.
Solve the system.

37.
[image: image78.png]




38.
[image: image79.png]




39.
[image: image80.png]5x + 4y
=+ 3+ 5z

3x +35z





40.
What are the focus and directrix of the parabola with equation [image: image81.png]


?

41.
Identify the focus and the directrix of the graph of [image: image82.png]


.

42.
Identify the focus and the directrix of the graph of [image: image83.png]


.
____
43.
What is an equation of a parabola with focus [image: image84.png]


 and directrix [image: image85.png]


.

	A.
	[image: image86.png]



	C.
	[image: image87.png]




	B.
	[image: image88.png]



	D.
	[image: image89.png]





What is an equation of a parabola with the given vertex and focus?

44.
vertex:[image: image90.png]


; focus: [image: image91.png]




45.
vertex:[image: image92.png]


; focus: [image: image93.png]




46.
vertex:[image: image94.png]


; focus: [image: image95.png]



What are the solutions of the quadratic equation?

47.
[image: image96.png]22 + 19 + 24



 = 0 

48.
[image: image97.png]5¢2 + 17x + 14



 = 0 

49.
[image: image98.png]22 + 8x + 6



 = 0 
What value completes the square for the expression?

50.
[image: image99.png]% + 16





51.
[image: image100.png]5

+ dx




Solve the quadratic equation by completing the square.

52.
[image: image101.png]2424





53.
[image: image102.png]X4+ 14x +38 = 0




Rewrite the equation in vertex form. Name the vertex and y-intercept.

54.
 [image: image103.png]32
y = 55743004 382




Use the Quadratic Formula to solve the equation.

55.
[image: image104.png]0





56.
[image: image105.png]22 49— T =0





57.
[image: image106.png]1l —9x -8

0




What is the number of real solutions?
____
58.
[image: image107.png]Ox? = —8x + 2




	A.
	cannot be determined
	C.
	one solution

	B.
	two solutions
	D.
	no real solutions


____
59.
[image: image108.png]—12x+12




	A.
	cannot be determined
	C.
	no real solutions

	B.
	one solution
	D.
	two solutions


____
60.
[image: image109.png]



	A.
	two solutions
	C.
	one solution

	B.
	no real solutions
	D.
	cannot be determined



61.
Identify the graph of [image: image110.png]4+ 7



.

62.
Identify the graph of [image: image111.png]


.
What is the absolute value of each number?

63.
[image: image112.png]2+ 1



.

64.
[image: image113.png]


.

65.
[image: image114.png]5+ 71



.
Simplify the expression.

66.
[image: image115.png](51)(51)





67.
[image: image116.png](81)(—1)





68.
[image: image117.png](61)(—1)





69.
Find the solutions of the equation.

[image: image118.png]%xtxﬂ:o





70.
Find the solutions of the equation.

[image: image119.png]%thzzo





71.
Find the solutions of the equation.

[image: image120.png]%xhuﬂ:o




Use graphing to find the solutions to the system of equations.

72.
[image: image121.png]y=x+Tx+10
y=x+3





73.
[image: image122.png]y=xt46x+7

y=x+3




What is the solution of the linear-quadratic system of equations?

74.
[image: image123.png]—dx+l
y=-x-3





75.
[image: image124.png]




76.
[image: image125.png]—4x+8
y=-x-2





77.
How can you find the inverse of a function algebraically?

____
78.
Consider the function [image: image126.png]) =x>+2



 with the domain [image: image127.png]


, and its inverse, [image: image128.png]£l = Afx—
(x) = ~
x
2



. Graph [image: image129.png]fx)



 and [image: image130.png]16
(x)



.

	A.
	[image: image131.emf]2 4 –2 –4 x

2

4

–2

–4

y


	C.
	[image: image132.emf]2 4 –2 –4 x

2

4

–2

–4

y



	B.
	[image: image133.emf]2 4 –2 –4 x

2

4

–2

–4

y


	D.
	[image: image134.emf]2 4 –2 –4 x

2

4

–2

–4

y




What is the inverse of the given relation?

79.
[image: image135.png]y = Tx2+ 7



.

80.
[image: image136.png]y = 8x2 +8



.

81.
[image: image137.png]y o= 2x2 + 2



.

82.
Graph [image: image138.png]y o= dx2 -2



 and its inverse.

83.
Graph [image: image139.png]y o= —dx2 -2



 and its inverse.
____
84.
Are [image: image140.png]) =x>+9



 with domain [image: image141.png]


 and [image: image142.png]2(x) = Jx+9



 inverse functions? Explain.

	A.
	Yes because [image: image143.png](fog)x) = x



 and [image: image144.png](g°)(x)=x



.
	C.
	No because [image: image145.png](fog)x)=x+18



 and [image: image146.png](gofix) = ~/x*+18



.

	B.
	Yes because [image: image147.png](fog)x)=x+18



 and [image: image148.png](gofix) = ~/x*+18



.
	D.
	No because [image: image149.png](2609 = [ +9) /579



 and [image: image150.png](gﬂj)(x):[x2+9]m



.


____
85.
Are [image: image151.png])= —2(:-3)+1



 with domain [image: image152.png]


 and [image: image153.png]


 inverse functions? Explain.

	A.
	Yes because [image: image154.png](fog)x) = x



 and [image: image155.png](g°)(x)=x



.
	C.
	No because [image: image156.png](fog)x)=x+18



 and [image: image157.png](gofix) = ~/x*+18



.

	B.
	Yes because [image: image158.png](fog)x)=x+18



 and [image: image159.png](gofix) = ~/x*+18



.
	D.
	No because [image: image160.png](2609 = [ +9) /579



 and [image: image161.png](gﬂj)(x):[x2+9]m



.


____
86.
Graph the square root function. Give the domain and range using inequalities.

[image: image162.png])= fx -3




	A.
	[image: image163.emf]2 4 –2 –4 x

2

4

–2

–4

y

domain: [image: image164.png]



range: [image: image165.png]



	C.
	[image: image166.emf]2 4 –2 –4 x

2

4

–2

–4

y

domain: [image: image167.png]



range: [image: image168.png]




	B.
	[image: image169.emf]2 4 –2 –4 x

2

4

–2

–4

y

domain: [image: image170.png]



range: [image: image171.png]



	D.
	[image: image172.emf]2 4 –2 –4 x

2

4

–2

–4

y

domain: [image: image173.png]



range: [image: image174.png]






87.
How does the graph of [image: image175.png]


 compare to its parent function?


88.
[image: image176.png]y= x+3





89.
[image: image177.png]y= x+3





90.
[image: image178.png]y= fx+2




____
91.
What is the domain and range of [image: image179.png]


?

	A.
	The domain is [image: image180.png]


. The range is [image: image181.png]


.

	B.
	The domain is [image: image182.png]


. The range is [image: image183.png]


.

	C.
	The domain is [image: image184.png]


. The range is [image: image185.png]


.

	D.
	The domain is [image: image186.png]


. The range is [image: image187.png]


.



92.
[image: image188.png]y = -05/x+3






93.
[image: image189.png]y=-05Jx-2+3




What is the solution of the equation?

94.
[image: image190.png]Jx+4 -6

2





95.
[image: image191.png]Jx-8+4=09





96.
[image: image192.png]54 AJx—6 =10




Solve the equation. Check your solution.

97.
[image: image193.png]




98.
[image: image194.png]




99.
[image: image195.png]




100.
[image: image196.png]




                                                         Algebra II Final Exam Review

Answer Section

1.
ANS:


x = [image: image197.emf]6

 or x =[image: image198.emf]3

10


PTS:
1
DIF:
L3
REF:
2-1 Absolute Value Equations

OBJ:
2-1.1 To write and solve equations involving absolute value


STA:
(6)(D)| (6)(E)


TOP:
2-1 Problem 3 Checking for Extraneous Solutions

KEY:
absolute value | extraneous solution



2.
ANS:


x = [image: image199.emf]2

 or x =[image: image200.emf]2

21


PTS:
1
DIF:
L3
REF:
2-1 Absolute Value Equations

OBJ:
2-1.1 To write and solve equations involving absolute value


STA:
(6)(D)| (6)(E)


TOP:
2-1 Problem 3 Checking for Extraneous Solutions

KEY:
absolute value | extraneous solution



3.
ANS:


–10 [image: image201.png]


 x [image: image202.png]


 0

[image: image203.emf]0 5 10 15 20 0 –5 –10 –15 –20


PTS:
1
DIF:
L3
REF:
2-2 Solving Absolute Value Inequalities

OBJ:
2-2.1 To write and solve inequalities involving absolute value


STA:
(6)(F)
TOP:
2-2 Problem 1 Solving the Absolute Value Inequality absolute value of A < b

KEY:
absolute value



4.
ANS:


–8 [image: image204.png]


 x [image: image205.png]


 4

[image: image206.emf]0 5 10 15 20 0 –5 –10 –15 –20


PTS:
1
DIF:
L3
REF:
2-2 Solving Absolute Value Inequalities

OBJ:
2-2.1 To write and solve inequalities involving absolute value


STA:
(6)(F)
TOP:
2-2 Problem 1 Solving the Absolute Value Inequality absolute value of A < b

KEY:
absolute value



5.
ANS:


[image: image207.emf]

2

1

28

 < x < [image: image208.emf]15

28


[image: image209.emf]0 2 4 6 0 –2 –4 –6


PTS:
1
DIF:
L4
REF:
2-2 Solving Absolute Value Inequalities

OBJ:
2-2.1 To write and solve inequalities involving absolute value


STA:
(6)(F)
TOP:
2-2 Problem 1 Solving the Absolute Value Inequality absolute value of A < b

KEY:
absolute value



6.
ANS:


The domain is [image: image210.png](~e0, )



 and the range is [image: image211.png]


.
PTS:
1
DIF:
L3
REF:
2-3 Attributes of Absolute Value Functions

OBJ:
2-3.3 To graph and analyze key attributes of absolute value functions

STA:
(2)(A)| (7)(I)
TOP:
2-3 Problem 1 Domain, Range, and Intercepts of Absolute Value Functions

KEY:
parent absolute value function

7.
ANS:


The domain is [image: image212.png](~e0, )



 and the range is [image: image213.png](-0, 2]



.
PTS:
1
DIF:
L3
REF:
2-3 Attributes of Absolute Value Functions

OBJ:
2-3.3 To graph and analyze key attributes of absolute value functions

STA:
(2)(A)| (7)(I)
TOP:
2-3 Problem 1 Domain, Range, and Intercepts of Absolute Value Functions

KEY:
parent absolute value function

8.
ANS:


The domain is [image: image214.png](~e0, )



 and the range is [image: image215.png]


.
PTS:
1
DIF:
L3
REF:
2-3 Attributes of Absolute Value Functions

OBJ:
2-3.3 To graph and analyze key attributes of absolute value functions

STA:
(2)(A)| (7)(I)
TOP:
2-3 Problem 1 Domain, Range, and Intercepts of Absolute Value Functions

KEY:
parent absolute value function

9.
ANS:


[image: image216.emf]O

4 8 –4 –8 x

4
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y


PTS:
1
DIF:
L2
REF:
2-4 Transformations of Absolute Value Functions

OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 2 Analyzing the Graph of f(x - c) When f(x) = absolute value of x

KEY:
transformation | translation | compression


10.
ANS:


[image: image217.emf]O

4 8 –4 –8 x

4

8

12

16

–4

y


PTS:
1
DIF:
L2
REF:
2-4 Transformations of Absolute Value Functions

OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 2 Analyzing the Graph of f(x - c) When f(x) = absolute value of x

KEY:
transformation | translation | compression


11.
ANS:


[image: image218.emf]O

4 8 –4 –8 x

4

8

12

16

–4

y


PTS:
1
DIF:
L2
REF:
2-4 Transformations of Absolute Value Functions

OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 2 Analyzing the Graph of f(x - c) When f(x) = absolute value of x

KEY:
transformation | translation | compression


12.
ANS:
B
PTS:
1
DIF:
L3


REF:
2-4 Transformations of Absolute Value Functions


OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 2 Analyzing the Graph of f(x - c) When f(x) = absolute value of x

KEY:
transformation | translation

13.
ANS:
C
PTS:
1
DIF:
L3


REF:
2-4 Transformations of Absolute Value Functions


OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 4 Analyzing the Graph of f(bx) When f(x) = absolute value of x

KEY:
transformation | translation

14.
ANS:


([image: image219.emf]6

7

, 6); x = [image: image220.emf]6

7

;

translated to the left [image: image221.emf]6

7

 units, up 6 units, and reflected in the y-axis.

PTS:
1
DIF:
L3
REF:
2-4 Transformations of Absolute Value Functions

OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 5 Identifying Transformations



KEY:
transformation | translation | compression 


15.
ANS:


([image: image222.emf]5

2

, 7); x = [image: image223.emf]5

2

;

translated to the left [image: image224.emf]5

2

 units, up 7 units, and reflected in the y-axis.

PTS:
1
DIF:
L3
REF:
2-4 Transformations of Absolute Value Functions

OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 5 Identifying Transformations



KEY:
transformation | translation | compression 


16.
ANS:


([image: image225.emf]2

, 4); x = [image: image226.emf]2

;

translated to the left [image: image227.emf]2

 units, up 4 units, and reflected in the y-axis.

PTS:
1
DIF:
L3
REF:
2-4 Transformations of Absolute Value Functions

OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 5 Identifying Transformations



KEY:
transformation | translation | compression 


17.
ANS:
C
PTS:
1
DIF:
L3


REF:
2-4 Transformations of Absolute Value Functions


OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 6 Writing an Absolute Value Function


KEY:
transformation | translation | stretch | reflection

18.
ANS:
D
PTS:
1
DIF:
L3


REF:
2-4 Transformations of Absolute Value Functions


OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 6 Writing an Absolute Value Function


KEY:
transformation | translation | stretch | reflection

19.
ANS:
D
PTS:
1
DIF:
L3


REF:
2-4 Transformations of Absolute Value Functions


OBJ:
2-4.1 To graph absolute value functions

STA:
(2)(A)| (6)(C)

TOP:
2-4 Problem 6 Writing an Absolute Value Function


KEY:
transformation | translation | stretch | reflection

20.
ANS:


infinitely many solutions
PTS:
1
DIF:
L2
REF:
3-2 Solving Systems Algebraically

OBJ:
3-2.1 To solve linear systems algebraically

STA:
(3)(A)

TOP:
3-2 Problem 5 Solving Systems Without Unique Solutions



KEY:
equivalent systems


21.
ANS:


infinitely many solutions
PTS:
1
DIF:
L2
REF:
3-2 Solving Systems Algebraically

OBJ:
3-2.1 To solve linear systems algebraically

STA:
(3)(A)

TOP:
3-2 Problem 5 Solving Systems Without Unique Solutions



KEY:
equivalent systems


22.
ANS:


[image: image228.emf]O

2 4 –2 –4 x

2

4

–2

–4

y


PTS:
1
DIF:
L3
REF:
3-3 Systems of Inequalities

OBJ:
3-3.1 To solve systems of linear inequalities

STA:
(3)(E)| (3)(F)| (3)(G)

TOP:
3-3 Problem 2 Solving a System by Graphing
KEY:
system of inequalities

23.
ANS:


[image: image229.emf]O

2 4 –2 –4 x

2

4

–2

–4

y


PTS:
1
DIF:
L3
REF:
3-3 Systems of Inequalities

OBJ:
3-3.1 To solve systems of linear inequalities

STA:
(3)(E)| (3)(F)| (3)(G)

TOP:
3-3 Problem 2 Solving a System by Graphing
KEY:
system of inequalities

24.
ANS:


[image: image230.emf]O
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PTS:
1
DIF:
L3
REF:
3-3 Systems of Inequalities

OBJ:
3-3.1 To solve systems of linear inequalities

STA:
(3)(E)| (3)(F)| (3)(G)

TOP:
3-3 Problem 2 Solving a System by Graphing
KEY:
system of inequalities

25.
ANS:


(3, –4, 2)
PTS:
1
DIF:
L2
REF:
3-5 Systems in Three Variables

OBJ:
3-5.2 To solve systems in three variables using substitution



STA:
(3)(A)| (3)(B)


TOP:
3-5 Problem 3 Solving a System Using Substitution

KEY:
representation



26.
ANS:


(5, 7, 0)
PTS:
1
DIF:
L2
REF:
3-5 Systems in Three Variables

OBJ:
3-5.2 To solve systems in three variables using substitution



STA:
(3)(A)| (3)(B)


TOP:
3-5 Problem 3 Solving a System Using Substitution

KEY:
representation



27.
ANS:


(–4, –3, 1)
PTS:
1
DIF:
L2
REF:
3-5 Systems in Three Variables

OBJ:
3-5.2 To solve systems in three variables using substitution



STA:
(3)(A)| (3)(B)


TOP:
3-5 Problem 3 Solving a System Using Substitution

KEY:
representation



28.
ANS:


6 lb pecans, 3 lb pistachios, 2 lb dried bananas
PTS:
1
DIF:
L2
REF:
3-5 Systems in Three Variables

OBJ:
3-5.2 To solve systems in three variables using substitution



STA:
(3)(A)| (3)(B)


TOP:
3-5 Problem 4 Solving a Real-World Problem

KEY:
representation



29.
ANS:
A
PTS:
1
DIF:
L2


REF:
3-6 Solving Systems Using Matrices




OBJ:
3-6.1 To represent a system of linear equations with a matrix


STA:
(3)(B)
TOP:
3-6 Problem 1 Identifying a Matrix Element


KEY:
matrix | matrix element

30.
ANS:
C
PTS:
1
DIF:
L2


REF:
3-6 Solving Systems Using Matrices




OBJ:
3-6.1 To represent a system of linear equations with a matrix


STA:
(3)(B)
TOP:
3-6 Problem 1 Identifying a Matrix Element


KEY:
matrix | matrix element

31.
ANS:
A
PTS:
1
DIF:
L4


REF:
3-6 Solving Systems Using Matrices




OBJ:
3-6.1 To represent a system of linear equations with a matrix


STA:
(3)(B)
TOP:
3-6 Problem 2 Representing Systems With Matrices

KEY:
matrix | matrix element

32.
ANS:
A
PTS:
1
DIF:
L4


REF:
3-6 Solving Systems Using Matrices




OBJ:
3-6.1 To represent a system of linear equations with a matrix


STA:
(3)(B)
TOP:
3-6 Problem 2 Representing Systems With Matrices

KEY:
matrix | matrix element

33.
ANS:
C
PTS:
1
DIF:
L4


REF:
3-6 Solving Systems Using Matrices




OBJ:
3-6.1 To represent a system of linear equations with a matrix


STA:
(3)(B)
TOP:
3-6 Problem 2 Representing Systems With Matrices

KEY:
matrix | matrix element

34.
ANS:


[image: image231.png]



PTS:
1
DIF:
L3
REF:
4-4 Systems and Matrices

OBJ:
4-4.1 To solve systems of equations using matrix inverses and multiplication

STA:
(3)(B)
TOP:
4-4 Problem 2 Writing a System as a Matrix Equation

KEY:
variable matrix | coefficient matrix | constant matrix

35.
ANS:


[image: image232.png]



PTS:
1
DIF:
L3
REF:
4-4 Systems and Matrices

OBJ:
4-4.1 To solve systems of equations using matrix inverses and multiplication

STA:
(3)(B)
TOP:
4-4 Problem 2 Writing a System as a Matrix Equation

KEY:
variable matrix | coefficient matrix | constant matrix

36.
ANS:


[image: image233.png]



PTS:
1
DIF:
L3
REF:
4-4 Systems and Matrices

OBJ:
4-4.1 To solve systems of equations using matrix inverses and multiplication

STA:
(3)(B)
TOP:
4-4 Problem 2 Writing a System as a Matrix Equation

KEY:
variable matrix | coefficient matrix | constant matrix

37.
ANS:


(–4, –1, 0)
PTS:
1
DIF:
L4
REF:
4-4 Systems and Matrices

OBJ:
4-4.1 To solve systems of equations using matrix inverses and multiplication

STA:
(3)(B)
TOP:
4-4 Problem 4 Solving a System of Three Equations

KEY:
coefficient matrix | constant matrix | variable matrix

38.
ANS:


(1, –4, 1)
PTS:
1
DIF:
L4
REF:
4-4 Systems and Matrices

OBJ:
4-4.1 To solve systems of equations using matrix inverses and multiplication

STA:
(3)(B)
TOP:
4-4 Problem 4 Solving a System of Three Equations

KEY:
coefficient matrix | constant matrix | variable matrix

39.
ANS:


(5, –3, 2)
PTS:
1
DIF:
L4
REF:
4-4 Systems and Matrices

OBJ:
4-4.1 To solve systems of equations using matrix inverses and multiplication

STA:
(3)(B)
TOP:
4-4 Problem 4 Solving a System of Three Equations

KEY:
coefficient matrix | constant matrix | variable matrix

40.
ANS:


focus: [image: image234.png]


; directrix: [image: image235.png]



PTS:
1
DIF:
L4
REF:
5-4 Focus and Directrix of a Parabola

OBJ:
5-4.1 To write the equation of a parabola using its focus and directrix

STA:
(4)(B)
TOP:
5-4 Problem 1 Parabolas with Equation y = ax^2

KEY:
directrix | focus of a parabola

41.
ANS:


focus (7, 0), directrix  x = –7
PTS:
1
DIF:
L4
REF:
5-4 Focus and Directrix of a Parabola

OBJ:
5-4.1 To write the equation of a parabola using its focus and directrix

STA:
(4)(B)
TOP:
5-4 Problem 2 Parabolas with Equation x = ay^2

KEY:
directrix | focus of a parabola

42.
ANS:


focus (–5, 0), directrix  x = 5
PTS:
1
DIF:
L4
REF:
5-4 Focus and Directrix of a Parabola

OBJ:
5-4.1 To write the equation of a parabola using its focus and directrix

STA:
(4)(B)
TOP:
5-4 Problem 2 Parabolas with Equation x = ay^2

KEY:
directrix | focus of a parabola

43.
ANS:
D
PTS:
1
DIF:
L3


REF:
5-4 Focus and Directrix of a parabola



OBJ:
5-4.1 To write the equation of a parabola using its focus and directrix

STA:
(4)(B)
TOP:
5.4 Problem 4 Writing an Equation Given the Focus and Directrix

KEY:
parabola | focus of a parabola | directrix


44.
ANS:


[image: image236.png]



PTS:
1
DIF:
L3
REF:
5-4 Focus and Directrix of a Parabola

OBJ:
5-4.2 To graph parabolas
STA:
(4)(B)


TOP:
5-4 Problem 5 Writing an Equation of a Parabola
KEY:
directrix  | focus of a parabola

45.
ANS:


[image: image237.png]



PTS:
1
DIF:
L3
REF:
5-4 Focus and Directrix of a Parabola

OBJ:
5-4.2 To graph parabolas
STA:
(4)(B)


TOP:
5-4 Problem 5 Writing an Equation of a Parabola
KEY:
directrix  | focus of a parabola

46.
ANS:


[image: image238.png]—1lg_3)2
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PTS:
1
DIF:
L3
REF:
5-4 Focus and Directrix of a Parabola

OBJ:
5-4.2 To graph parabolas
STA:
(4)(B)


TOP:
5-4 Problem 5 Writing an Equation of a Parabola
KEY:
directrix  | focus of a parabola

47.
ANS:


–8, [image: image239.emf]

3

2


PTS:
1
DIF:
L3
REF:
5-6 Quadratic Equations

OBJ:
5-6.1 To solve quadratic equations by factoring
STA:
(4)(F)| (7)(I)

TOP:
5-6 Problem 1 Solving a Quadratic Equation by Factoring



KEY:
Zero-Product Property

48.
ANS:


–2, [image: image240.emf]

7

5


PTS:
1
DIF:
L3
REF:
5-6 Quadratic Equations

OBJ:
5-6.1 To solve quadratic equations by factoring
STA:
(4)(F)| (7)(I)

TOP:
5-6 Problem 1 Solving a Quadratic Equation by Factoring



KEY:
Zero-Product Property

49.
ANS:


–3, [image: image241.emf]1


PTS:
1
DIF:
L3
REF:
5-6 Quadratic Equations

OBJ:
5-6.1 To solve quadratic equations by factoring
STA:
(4)(F)| (7)(I)

TOP:
5-6 Problem 1 Solving a Quadratic Equation by Factoring



KEY:
Zero-Product Property

50.
ANS:


64
PTS:
1
DIF:
L2
REF:
5-7 Completing the Square

OBJ:
5-7.2 To rewrite functions by completing the square
STA:
(4)(D)| (4)(F)

TOP:
5-7 Problem 4 Completing the Square

KEY:
completing the square

51.
ANS:


4
PTS:
1
DIF:
L2
REF:
5-7 Completing the Square

OBJ:
5-7.2 To rewrite functions by completing the square
STA:
(4)(D)| (4)(F)

TOP:
5-7 Problem 4 Completing the Square

KEY:
completing the square

52.
ANS:


[image: image242.png]



PTS:
1
DIF:
L3
REF:
5-7 Completing the Square

OBJ:
5-7.1 To solve equations by completing the square
STA:
(4)(D)| (4)(F)

TOP:
5-7 Problem 5 Solving by Completing the Square
KEY:
completing the square

53.
ANS:


[image: image243.png]~7 + ~/11




PTS:
1
DIF:
L3
REF:
5-7 Completing the Square

OBJ:
5-7.1 To solve equations by completing the square
STA:
(4)(D)| (4)(F)

TOP:
5-7 Problem 5 Solving by Completing the Square
KEY:
completing the square

54.
ANS:


[image: image244.png]3
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vertex: ([image: image245.png]


, 7)

y-intercept: (0, 382)
PTS:
1
DIF:
L4
REF:
5-7 Completing the Square

OBJ:
5-7.2 To rewrite functions by completing the square
STA:
(4)(D)| (4)(F)

TOP:
5-7 Problem 6 Writing in Vertex Form

KEY:
completing the square

55.
ANS:


[image: image246.emf]
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2

 [image: image247.png]



PTS:
1
DIF:
L3
REF:
5-8 The Quadratic Formula

OBJ:
5-8.1 To solve quadratic equations using the Quadratic Formula


STA:
(4)(F)
TOP:
5-8 Problem 1 Using the Quadratic Formula


KEY:
Quadratic Formula


56.
ANS:


[image: image248.emf]
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 [image: image249.png]



PTS:
1
DIF:
L3
REF:
5-8 The Quadratic Formula

OBJ:
5-8.1 To solve quadratic equations using the Quadratic Formula


STA:
(4)(F)
TOP:
5-8 Problem 1 Using the Quadratic Formula


KEY:
Quadratic Formula


57.
ANS:


[image: image250.emf]9
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PTS:
1
DIF:
L3
REF:
5-8 The Quadratic Formula

OBJ:
5-8.1 To solve quadratic equations using the Quadratic Formula


STA:
(4)(F)
TOP:
5-8 Problem 1 Using the Quadratic Formula


KEY:
Quadratic Formula


58.
ANS:
C
PTS:
1
DIF:
L2
REF:
5-8 The Quadratic Formula

OBJ:
5-8.2 To determine the number of real solutions by using the discriminant

STA:
(4)(F)
TOP:
5-8 Problem 3 Using the Discriminant


KEY:
discriminant | Quadratic Formula

59.
ANS:
B
PTS:
1
DIF:
L2
REF:
5-8 The Quadratic Formula

OBJ:
5-8.2 To determine the number of real solutions by using the discriminant

STA:
(4)(F)
TOP:
5-8 Problem 3 Using the Discriminant


KEY:
discriminant | Quadratic Formula

60.
ANS:
C
PTS:
1
DIF:
L2
REF:
5-8 The Quadratic Formula

OBJ:
5-8.2 To determine the number of real solutions by using the discriminant

STA:
(4)(F)
TOP:
5-8 Problem 3 Using the Discriminant


KEY:
discriminant | Quadratic Formula

61.
ANS:
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PTS:
1
DIF:
L3
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 2 Graphing in the Complex Number Plane

KEY:
complex number | complex number plane


62.
ANS:
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PTS:
1
DIF:
L3
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 2 Graphing in the Complex Number Plane

KEY:
complex number | complex number plane


63.
ANS:


[image: image254.emf]5


PTS:
1
DIF:
L2
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 2 Graphing in the Complex Number Plane

KEY:
complex number | absolute value of a complex number

64.
ANS:


[image: image255.emf]5


PTS:
1
DIF:
L2
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 2 Graphing in the Complex Number Plane

KEY:
complex number | absolute value of a complex number

65.
ANS:


[image: image256.emf]26


PTS:
1
DIF:
L2
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 2 Graphing in the Complex Number Plane

KEY:
complex number | absolute value of a complex number

66.
ANS:


–25
PTS:
1
DIF:
L2
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 4 Multiplying Complex Numbers

KEY:
complex number


67.
ANS:


8
PTS:
1
DIF:
L2
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 4 Multiplying Complex Numbers

KEY:
complex number


68.
ANS:


6
PTS:
1
DIF:
L2
REF:
5-9 Complex Numbers

OBJ:
5-9.1 To identify, graph, and perform operations with complex numbers

STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 4 Multiplying Complex Numbers

KEY:
complex number


69.
ANS:


[image: image257.png]



PTS:
1
DIF:
L3
REF:
5-9 Complex Numbers

OBJ:
5-9.2 To find complex number solutions of quadratic equations


STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 7 Finding Imaginary Solutions

KEY:
complex number | imaginary number



70.
ANS:


[image: image258.png]



PTS:
1
DIF:
L3
REF:
5-9 Complex Numbers

OBJ:
5-9.2 To find complex number solutions of quadratic equations


STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 7 Finding Imaginary Solutions

KEY:
complex number | imaginary number



71.
ANS:


[image: image259.png]



PTS:
1
DIF:
L3
REF:
5-9 Complex Numbers

OBJ:
5-9.2 To find complex number solutions of quadratic equations


STA:
(4)(F)| (7)(A)| (7)(B)

TOP:
5-9 Problem 7 Finding Imaginary Solutions

KEY:
complex number | imaginary number



72.
ANS:
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 (–5, 0)

(–1, 4)
PTS:
1
DIF:
L2
REF:
5-11 Systems of Linear and Quadratic Equations

OBJ:
5-11.1 To solve and graph systems of linear and quadratic equations

STA:
(3)(A)| (3)(C)| (3)(D)



TOP:
5-11 Problem 1 Solving a Linear-Quadratic System by Graphing


KEY:
formulate | strategy | reasonableness



73.
ANS:
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 (–4, –1)

(–1, 2)
PTS:
1
DIF:
L2
REF:
5-11 Systems of Linear and Quadratic Equations

OBJ:
5-11.1 To solve and graph systems of linear and quadratic equations

STA:
(3)(A)| (3)(C)| (3)(D)



TOP:
5-11 Problem 1 Solving a Linear-Quadratic System by Graphing


KEY:
formulate | strategy | reasonableness



74.
ANS:


 (–4, 1)

(1, –4)
PTS:
1
DIF:
L3
REF:
5-11 Systems of Linear and Quadratic Equations

OBJ:
5-11.1 To solve and graph systems of linear and quadratic equations

STA:
(3)(A)| (3)(C)| (3)(D)



TOP:
5-11 Problem 1 Solving a Linear-Quadratic System by Graphing


KEY:
formulate | strategy | reasonableness



75.
ANS:


 (–1, –2)

(1, –4)
PTS:
1
DIF:
L3
REF:
5-11 Systems of Linear and Quadratic Equations

OBJ:
5-11.1 To solve and graph systems of linear and quadratic equations

STA:
(3)(A)| (3)(C)| (3)(D)



TOP:
5-11 Problem 1 Solving a Linear-Quadratic System by Graphing


KEY:
formulate | strategy | reasonableness



76.
ANS:


 (–5, 3)

(2, –4)
PTS:
1
DIF:
L3
REF:
5-11 Systems of Linear and Quadratic Equations

OBJ:
5-11.1 To solve and graph systems of linear and quadratic equations

STA:
(3)(A)| (3)(C)| (3)(D)



TOP:
5-11 Problem 1 Solving a Linear-Quadratic System by Graphing


KEY:
formulate | strategy | reasonableness



77.
ANS:


Rewrite the equation by switching y and x. Then, solve for y.
PTS:
1
DIF:
L2
REF:
6-1 Square Root Functions as Inverses

OBJ:
6-1.1 To describe and analyze the relationship between a quadratic function and its square root inverse
STA:
(2)(B)| (2)(C)| (2)(D)

TOP:
6-1 Problem 1 Finding an inverse

KEY:
inverse relation


78.
ANS:
A
PTS:
1
DIF:
L3


REF:
6-1 Square Root Functions as Inverses



OBJ:
6-1.1 To describe and analyze the relationship between a quadratic function and its square root inverse
STA:
(2)(B)| (2)(C)| (2)(D)



TOP:
6-1 Problem 2 Graphing a function and its inverse
KEY:
square root function

79.
ANS:


[image: image262.png]



PTS:
1
DIF:
L3
REF:
6-1 Square Root Functions as Inverses

OBJ:
6-1.1 To describe and analyze the relationship between a quadratic function and its square root inverse
STA:
(2)(B)| (2)(C)| (2)(D)



TOP:
6-1 Problem 2 Graphing a Function and Its Inverse
KEY:
square root function

80.
ANS:


[image: image263.png]



PTS:
1
DIF:
L3
REF:
6-1 Square Root Functions as Inverses

OBJ:
6-1.1 To describe and analyze the relationship between a quadratic function and its square root inverse
STA:
(2)(B)| (2)(C)| (2)(D)



TOP:
6-1 Problem 2 Graphing a Function and Its Inverse
KEY:
square root function

81.
ANS:


[image: image264.png]



PTS:
1
DIF:
L3
REF:
6-1 Square Root Functions as Inverses

OBJ:
6-1.1 To describe and analyze the relationship between a quadratic function and its square root inverse
STA:
(2)(B)| (2)(C)| (2)(D)



TOP:
6-1 Problem 2 Graphing a Function and Its Inverse
KEY:
square root function

82.
ANS:
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PTS:
1
DIF:
L3
REF:
6-1 Square Root Functions as Inverses

OBJ:
6-1.1 To describe and analyze the relationship between a quadratic function and its square root inverse
STA:
(2)(B)| (2)(C)| (2)(D)



TOP:
6-1 Problem 2 Graphing a Function and Its Inverse
KEY:
square root function

83.
ANS:


[image: image266.emf]2 4 –2 –4 x
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PTS:
1
DIF:
L3
REF:
6-1 Square Root Functions as Inverses

OBJ:
6-1.1 To describe and analyze the relationship between a quadratic function and its square root inverse
STA:
(2)(B)| (2)(C)| (2)(D)



TOP:
6-1 Problem 2 Graphing a Function and Its Inverse
KEY:
square root function

84.
ANS:
C
PTS:
1
DIF:
L2


REF:
6-1 Square Root Functions as Inverses



OBJ:
6-1.2 To use composition of quadratic and square root functions to determine if they are inverses

STA:
(2)(B)| (2)(C)| (2)(D)

TOP:
6-1 Problem 4 Composing Functions

KEY:
square root function


85.
ANS:
A
PTS:
1
DIF:
L2


REF:
6-1 Square Root Functions as Inverses



OBJ:
6-1.2 To use composition of quadratic and square root functions to determine if they are inverses

STA:
(2)(B)| (2)(C)| (2)(D)

TOP:
6-1 Problem 4 Composing Functions

KEY:
square root function


86.
ANS:
D
PTS:
1
DIF:
L3


REF:
6-2 Attributes of Square Root Functions



OBJ:
6-2.1 To graph and analyze key attributes of square root functions


STA:
(2)(A)| (4)(E)| (7)(I)



TOP:
6-2 Problem 1 Domain and Range of Square Root functions


KEY:
analyze

87.
ANS:


The graph is compressed vertically by a factor of [image: image267.png]


.
PTS:
1
DIF:
L3
REF:
6-3 Transformations of Square Root Functions

OBJ:
6-3.1 To determine the effects of transformations on the graph of the square root parent function

STA:
(4)(C)
TOP:
6-3 Problem 1 Vertical Stretch and Compression

KEY:
square root parent function

88.
ANS:
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PTS:
1
DIF:
L2
REF:
6-3 Transformations of Square Root Functions

OBJ:
6-3.1 To determine the effects of transformations on the graph of the square root parent function

STA:
(4)(C)
TOP:
6-3 Problem 3 Translating a Square Root Function Horizontally

KEY:
square root parent function

89.
ANS:
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PTS:
1
DIF:
L2
REF:
6-3 Transformations of Square Root Functions

OBJ:
6-3.1 To determine the effects of transformations on the graph of the square root parent function

STA:
(4)(C)
TOP:
6-3 Problem 3 Translating a Square Root Function Horizontally

KEY:
square root parent function

90.
ANS:
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PTS:
1
DIF:
L2
REF:
6-3 Transformations of Square Root Functions

OBJ:
6-3.1 To determine the effects of transformations on the graph of the square root parent function

STA:
(4)(C)
TOP:
6-3 Problem 3 Translating a Square Root Function Horizontally

KEY:
square root parent function

91.
ANS:
D
PTS:
1
DIF:
L3


REF:
6-3 Transformations of Square Root Functions


OBJ:
6-3.1 To determine the effects of transformations on the graph of the square root parent function

STA:
(4)(C)
TOP:
6-3 Problem 4 Horizontal Stretch and Compression

KEY:
square root parent function

92.
ANS:
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PTS:
1
DIF:
L4
REF:
6-3 Transformations of Square Root Functions

OBJ:
6-3.1 To determine the effects of transformations on the graph of the square root parent function

STA:
(4)(C)
TOP:
6-3 Problem 5 Graphing a Square Root Function

KEY:
square root parent function

93.
ANS:
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PTS:
1
DIF:
L4
REF:
6-3 Transformations of Square Root Functions

OBJ:
6-3.1 To determine the effects of transformations on the graph of the square root parent function

STA:
(4)(C)
TOP:
6-3 Problem 5 Graphing a Square Root Function

KEY:
square root parent function

94.
ANS:


60
PTS:
1
DIF:
L2
REF:
6-5 Solving Square Root Equations

OBJ:
6-5.1 To solve square root equations algebraically and check for extraneous solutions

STA:
(4)(F)| (4)(G)


TOP:
6-5 Problem 1 Solving a Square Root Equation

KEY:
square root equation


95.
ANS:


33
PTS:
1
DIF:
L2
REF:
6-5 Solving Square Root Equations

OBJ:
6-5.1 To solve square root equations algebraically and check for extraneous solutions

STA:
(4)(F)| (4)(G)


TOP:
6-5 Problem 1 Solving a Square Root Equation

KEY:
square root equation


96.
ANS:


31
PTS:
1
DIF:
L2
REF:
6-5 Solving Square Root Equations

OBJ:
6-5.1 To solve square root equations algebraically and check for extraneous solutions

STA:
(4)(F)| (4)(G)


TOP:
6-5 Problem 1 Solving a Square Root Equation

KEY:
square root equation


97.
ANS:


49
PTS:
1
DIF:
L3
REF:
6-4 Introduction to Square Root Equations

OBJ:
6-4.1 To formulate and solve square root equations
STA:
(4)(E)| (4)(F)

TOP:
6-4 Problem 1 Solving by Isolating the Radical
KEY:
radical equation

98.
ANS:


144
PTS:
1
DIF:
L3
REF:
6-4 Introduction to Square Root Equations

OBJ:
6-4.1 To formulate and solve square root equations
STA:
(4)(E)| (4)(F)

TOP:
6-4 Problem 1 Solving by Isolating the Radical
KEY:
radical equation

99.
ANS:


100
PTS:
1
DIF:
L3
REF:
6-4 Introduction to Square Root Equations

OBJ:
6-4.1 To formulate and solve square root equations
STA:
(4)(E)| (4)(F)

TOP:
6-4 Problem 1 Solving by Isolating the Radical
KEY:
radical equation

100.
ANS:


32
PTS:
1
DIF:
L3
REF:
6-4 Introduction to Square Root Equations

OBJ:
6-4.1 To formulate and solve square root equations
STA:
(4)(E)| (4)(F)

TOP:
6-4 Problem 1 Solving by Isolating the Radical
KEY:
radical equation
